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Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions
ALLOTMENT OF MARKS

PART—A / Rei—=

Q. No. 1{ a—f) carries I mark each : 1x6= 6
Q. Nos. 2-7 carry 2 marks each : 2x6 = 12
Q. Nos. 8-12 carry 4 marks each :  4x5= 20
Q. Nos. 13 & 14 carry 6 marks each  : 6x2 =12

Total = 50

PART—B / fet—

Q. No. 15( a—f ) carries I mark each Ik I1x6 = 6
Q. Nos. 16-21 carry 2 marks each H 2x6 =12
Q. Nos. 22-26 carry 4 marks each p 4x5 =20
Q. Nos. 27 & 28 carry 6 marks each 6x2 =12
| Total = 50

‘Total (PART—A & PART—B) : S50+50=100
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(2)

PART—A
Rel—s

( Introductory Microeconomics )

1. Answer the following :

were franRere] Twg fr -

(a) State the law of supply.
QIRICERSIEORE R

(b) What is break-even point?
serske 7 76 2

(c) What is the shape of a perfectly inelastic demand
curve?

o fzforrre vk @R Sl @omgar 2

(d) What does a point below the production possibility
curve indicate?

TR T (Y[ ToT AFS {7 @13 & ot w3 2

(e) What is market economy?

IHR LS F 2
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(3)
(f/ What do you understand by price ceiling? 1

v T S gferee & g 2

2. What is opportunity cost? Explain with an example.
1+1=2

ST 9 {62 91 SHIRAePTR 1 41 |

3. Write the law of variable proportion. 2

ISECERIGIECGICASIBa RGN

4. State the law of demand and draw a demand curve.

1+1=2
wifem RRCE o = =1sice qore Bifdar (31 S 40 |
5. Prove that for a firm, price = average revenue. 2
2[q1 FA1 (@ (RICA 93 2OV AN, 7 = TS A |
6. Write the conditions of firm’s equilibrium. 2

AfSHHI STOR TSP 20! fordl |

7. How does imposition of per unit tax affect supply curve of
a firm? 2

| 9T T4 AR ATSH (TS @ (AT ASIAS I ?
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8. Discuss the characteristics of perfect competitive
market. 4

o aferafareryere T&™a CAFRBPTR SCEDA 341 |

9. With the help of demand and supply curve, explain how
market equilibrium is attained. 4

IR S IS (YR TS ISR SRS W26 2 I F49 |

10. Explain the law of diminishing marginal utility. 4

FEPNF afes Secaifae Riggsr amm 391

Or / 9d1

What is price elasticity of demand? Discuss any one
method of calculating price elasticity of demand. 1+3=4

PIftwR 7 fEfowieeel § 2 vItnR W Bfegrere 99 397 R @ 9o
@S AL F41 |

11. Define production function. The production function of a
firm is given as Q = 5JLK , where Q is output, L is labour
-employed and K is capital employed. Determine the level of
Q, when L =16 and K = 36. 1+3=4

T FoR W 191 1 9y AfSPmR Beowd FoH CZ® O = 5VLK,
e Q = Terd oAfRm, L (xR e a9 ofme W K
Xy s FEgR AR L=16 9F K =36 T QI «fwe
SNSRI :
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Or / q{1
Discuss the determinants of supply. 4

QIRIEERERINE e R e B

12. Write the differences between monopoly market and
" monopolistic competitive market. 4

oA TR W1 @b afefer e TR B |

13. Explain how a consumer attains equilibrium while
consuming two commodities. 6

T T TACSIR CFAS SIS OGS (FICA SIS (G I, A
901

Or / 341

What is an indifference curve? Draw an indifference curve

and discuss its properties. 1+1+4=6
Faers @ B2 qom fers @ sod w9 e TR ke
HICABAT 47 |

14. Define average fixed cost (AFC), average variable cost
(AVC) and average cost (AC). Draw the AFC, AVC and AC
curves indicating their interrelation. 3+3=6

TS &3 I/ (AFC), 515 RSt I/ (AVC) =¥ 1% I8 (AC)R e
ffr1 1 AFC, AVC W% ACY TR WBsré 2foshe @ris @
WN\WW|
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(6)
Or / 941
Calculate TFC, TVC, AVC, AFC, AC and MC schedule from
the following table : : 6
©eq O *[/1 TFC, TVC, AVC, AFC, AC IF MC SpP{ol o1
91
Amount of Production (Q) | O 1 2 3 4 ) 6
TeomT AT
Total Cost (TC) 40 |100|120(130(150(190|250
PIA
PART—B
e1—

( Statistics for Economics )

15. Answer the following :

oo TrafRes Ty fuar :

(a) Who forwarded the welfare definition of economics?

SRS FANR AL (1A ARG ?

(b) Write one limitation of statistics.

AFPRYA REHI 9B Sz o |
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(c) Write the direct method of calculating arithmetic mean
in case of discrete variable. 1

Rifvzs 55193 CFA® SANEI MY AHE 20975 2MRtoco! fol |

(d) Write the full form of NSSO. 1
NSSOT =7 o1 fera |
(e) Who is known as the father of statistics? i &

offeiRY" Rew=e Proacel I &= Iw 2

Write one difference  between diagrammatic
gr
presentation and graphical presentation of data. 1

YR BA Tomem wF @4bam ToEo=T TET 9o 21 &7 |

16. Calculate range and range coefficient from the following
data : 1+1=2

To SYRIG “[1 2P SF 2P SETRF ST 1

12, 15, 18, 21, 24, 27

17. Write two differences between discrete variable and
continuous variable. 2

Rifoza vore i ffora Berea e o1 -~ for |

18. What do you wunderstand by relative measures of
dispersion? 2

Remwere sweefiss e et & @12
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19. Write two differences between histogram and bar
diagram.

2R’ amm =% v Az o1 N forn o

20. Write two limitations of ‘direct personal investigation’
method of data collection.

T 2R 2OrF IS SpTAE’ mied 151 Tme! i |

21. Write two features of statistics.

“fRer R 761 ¢afes fer |

22. Briefly write about the methods of classification of data.
TIR CAREIIT TR TRI e o o |

Or / 9d1

Write the objectives of tabulation of data.

SR SIRPIPIR SRR T |

23. The marks obtained by 9 students of a class are given
below. Calculate mean deviation :

@Bl TR 9 T REAR Ar® I I939 OIferd] were il (arm | sTe fRvee
ST 91

22, 65, 40, 50, 38, 20, 70, 25, 75
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Or / H<q1
Write a note on Lorenz curve. 4
A% I59 A 961 G o |
24. Calculate Karl Pearson’s correlation coefficient from the
following data : 4
wed O ©R[_1 I FPIIIeaq T QRS ] I
X 6 8 12 115|118 | 20| 24 | 38 | 31
Yy |10l 12|15 (15|18 [ 25| 22 | 26 | 28
Or / 941
What is rank correlation? Briefly outline its demerits.
1+3=4
AT T2 7 TR SPIRAPTR FRewe o |
25, Calculate mode from the following frequency
distribution : 4
Toq AT [Reeeg #[1 IS 591 341
X! 0-10 |10-20(20-30|3040|40-50|50-60{60-70|70-80
4 12 18 25 16 9 7 3
/128 [ Contd.




BIKALI COLLEGE LIBRARY

( 10 )
Or / <71
What is median? Discuss its merits. 1+3=4
T 2 TR SRR SCEs 641
26. Write the characteristics of an ideal average. 4
B! S 51 CAMEPTR fera |
27. Write short notes on : 3+3=6
5y (B e

(a) Wholesale price index
2P T TPIRS

(b) Consumer price index

TATSER { SIS
Or / ¥41

Discuss the use of index number in the study of
economics. 6

WWWWW’RWWWWI

28. Discuss the characteristics of a good questionnaire. 6

G ST ZPEAR (RIEPTYR SCEAl 941 |
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Or / J=[1
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Draw a histogram and a frequency polygon from the

following data : 4+2=6
WoId O] ©[F1 9b1 2R A WF 9Bl IR IZPE WA I
Marks Obtained |10-20|20-30|30-40|40-50(50-60|60-70
AEATT
No. of Students S 12 22 19 4
RIGS 5330
* % %k
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